SF0 445y i = X 15
HXATH 4 . B E AT FHEREE

e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
W BT Ecend 1.1 | b M e B T b . — -
2| % Pkt ik 1.3 [ 2. 450 708 1.3 1.3 —| —
LELIA 0 HE 11 E13 - -
5 E Eser 1.1 — — —
KR Epe 1.3 Ly~ -
K Eein 1.2 Ly - -
ny SRR EET Koo 1.0 mkkE - -
SEAHT EaaiH 30 | 1.1 - - —
F =i 1.1 1.3 | -
s Bt 1.2 1.3 | -
Bk BN 1.1 1.3 | -
<| Eh Eeias 1.3 1.2 | —
FiR T RHE TR o A ik 1.1 bR - —
LRLLASN o Hitte; 1.1 ifi 1.2 - -
LRy Ece 1.1 L2 - -
2+ Ecend 1.3 1.3 - -
Z| RAKHT g 1.1 - - =
Nl Eeei 1.4 .3 - —
& R =5 1.0 L I
B (BEREHEN O R AMRIRZ R 1.0 VLY - —
FCELA o> Hitik 1.0 [ 4.8 L2 1.2 - -
U| #ri R T AHENE o> F e 30 11 | b E Ettﬁl - -
ERCEASS D L1 10/ Bﬁliﬁli - -
FET it 30 1.1 |8 bb HEA b v - - - -
e AT AHE S o iR g 11 A e e e v e e | —
_EEELIAN 0> itk L1 [#f 4. 890 4.8 1.2%6 1.2 — -
bR g 13 [Fl 3. 460 7. 90 130 1.3 —| —
7| T AHE S R F R 30 | L1 |AkdEEKE - o | —




ST 495y i = X 25
HXATH 4 . B E AT FHEREE

e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
7z BRI o> ik L1|H 10 mﬁ1¢ﬁ1a - -
EH&# R T EHE I E o> AR L1 AL L b e b e | —
LECLAS 0> it L2 [l .ol 4800 12606 1.2 — —
HREFR I 11 M 150 4. 80 1200 1.2 —| —
Bl hkiE Epe 30 | 11 —fERkE - -
| i Eee 1.3 [Fl 150 4. 80 1o0 1.2 —| —
2 TEE Eeei L1%24’79L13%13 - -
2 HEE sy L1l 3. 40 7960 1386 1.3 — —
V3R] Eeei 1.1 Jﬁttﬁ%tlzfﬁ[ﬁttﬁﬁttzﬁ - -
PR I 11 [t 2. Offi 4. ET@ Lyl 1.3~ —
V| AHET IR Llﬁmﬁgmﬁ - - - -
K IRy ffﬂ(%%ﬁ@ﬁﬁﬁ@%mﬁﬁﬁ%% L1 10fF 48 L.2ff 1.2 —| —
LECLAS 0> itk 1.1 |ff 4.8 JOE 12 — —

E=¥ LIE=R=S 1.1 [# 5.6 O 1.2 — —

_EEELIS 0> itk 1.0 [ 5.6 o 12 — —
AKHL ESET 1.1 | bz
H.H WEl, HE 1.1 |#l 5. 8f I T U I
_ERCEASN 0> itk L1 [# 2. Of D U —

H| R £ 1.0 [ 5. 6 C2E 1.2 — —

F DAt o> HuIE Ecer:d 1.1 [ 1.5 L2 1.2 - -




